
N = 379

379 circles in a 1x0.70000 rectangle

radius =   0.022490863285
ratio  =  31.123749725893

density  = 0.860405729874
contacts = 591
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N = 380

380 circles in a 1x0.70000 rectangle

radius =   0.022477385189
ratio  =  31.142412433842

density  = 0.861642288195
contacts = 648

 E.SPECHT
13-AUG-2010

N = 381

381 circles in a 1x0.70000 rectangle

radius =   0.022444635198
ratio  =  31.187853749378

density  = 0.861394134897
contacts = 625
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N = 382

382 circles in a 1x0.70000 rectangle

radius =   0.022425460880
ratio  =  31.214520127731

density  = 0.862180011553
contacts = 481
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N = 383

383 circles in a 1x0.70000 rectangle

radius =   0.022417629969
ratio  =  31.225423961546

density  = 0.863833414542
contacts = 505
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N = 384

384 circles in a 1x0.70000 rectangle

radius =   0.022415915304
ratio  =  31.227812494133

density  = 0.865956369653
contacts = 515
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